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Problem quickname: 1442

Solutions to smp-1442-1/HEJS

Worksheet

D)
Fill in the missing numbers.
7T 2 6 2 6 7
+ 1 2 1 + 4 1 5
a) b)
1
6 1 5 1 3
+ 2 1 + 8§ 3
d) e)
7T 7 8 5 7 4
+ 2 3 + 2 2 5
g) o h)
= 8 0 1 = 7 9 9
7T 8 3
.+ 4 7
i) L
= 8 3 0
2)
Fill in the missing numbers.
3 0 3 3 4 8
+ 4 6 8 + 5 2 0
+ 2 0 6 + 1 1 7
a) 4 2 2 b 4 5
1 2
= 9 9 9 = 9 9 0
7T 7 6 8§ 4 6
+ 2 0 2 + 1 8
+ 1 1 + 0o 7
4 4 3 °) 4 1 2
1 2
= 9 9 2 = 9 8 3
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2 6 3
+ 4 3 8
C) 1
= 7 0 1
3 3 9
n L0
= 5 0 6
6 4
4+ 8 3 2
i)
= 8 9 6
2 4 6
+ 2 0 4
+ 4 2 4
) 4 6
2
= 8 8 0
3 8 1
+ 3 0 6
0l
1
= 9 9 4
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3 5 1 3 1 8
+ 1 1 9 + 5 4 7
+ 5 1 3 + 1 1 9
e 4 1 0 h) 4 7
1 3
= 9 9 3 = 9 9 1
2 2 1
+ 7 3 6
L T 6
1) 1 8
= 9 8 1
3)
Fill in the missing numbers.
1 0 2 1 5 4
a) + 1 3 1 by + 4 2 0
= 2 3 3 = 5 7 4
9 0 6 3 7 5
d) + 6 0 e) + 1 0
3 5 5 1 8
g) + 3 3 2 hy + 4 6 0
4 8 2
jy + 1 1 6
= 5 9 8
4)
Fill in the missing numbers.
5 2 2 1
+ 5 + 2 5
a) b) c)
= 5 7 = 4 6
8§ 1 2 4
+ 9 + 6 8
e) ) f) X g)
= 9 0 = 9 2
6 9 2 3
.+ 1 1 .+ 5 6
i) 1 i)
= 8 0 = 7 9
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T 2 7
+ 1 3 3
12 2
o4 7
= 9 8 9
1 1 4
c) + 6 7 1
= 8 5
1 0 7
H + 2 5 1
= 3 5 8
1 0 4
Hh+ 1 9 0
= 2 9 4
4 3
1 6 +
d)
5 9 =
6
_|._
h)
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Good Luck!
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